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1. Which of the following pair of molecules contain odd electron molecule and an expanded octet molecule?

(1) BCl
3
 and SF

6
(2) NO and H

2
SO

4
(3) SF

6
 and H

2
SO

4
(4) BCl

3
 and NO

v.kqvksa ds fuEufyf[kr ;qXeksa esa ls fdlesa fo’ke bysDVªkWu v.kq rFkk izlkfjr v’Vd v.kq Øe”k% gSa \

(1) BCl
3
 rFkk SF

6
(2) NO rFkk H

2
SO

4
(3) SF

6
 rFkk H

2
SO

4
(4) BCl

3
 rFkk NO

Question ID:100261

Ans. Official Answer NTA (2)

Sol. (A) BCl
3
 – Even electron molecules

SF
6 
– Expended octet molecules

(B) No – Odd electron molecules

H
2
SO

4
 – Expanded octet

(C) SF
6
 – Even electron molecules

H
2
SO

4
 – Expanded octet

(D) BCl
3
 – Even electron molecules

NO – odd electron molecules

2.      2 g 2 g 3 g
N 3H 2NH 

20 g      5g
Consider the above  reaction, the limiting reagent of the reaction and number of moles of NH

3
 formed respectively

are :

     2 g 2 g 3 g
N 3H 2NH 

20 g      5g

mijksDr vfHkfØ;k ij fopkj dhft,A vfHkfØ;k ds fy, lhekUr vfHkdeZd rFkk mRiUu NH
3
 ds eksyksa dh la[;k Øe”k gS

:

(1) H
2
, 1.42 moles (2) H

2
, 0.71 moles (3) N

2
, 1.42 moles (4) N

2
, 0.71 moles

Question ID:100262

Ans. Official Answer NTA (3)

Sol. N
2
(g) + 3H

2
(g)   2NH

3
(g)

w
2
 =       20 g       5g

n =        
20

28
        

5

2

Stoichiometric amount

2

20 / 28 20
N

1 28
  2

5 / 2 5
H

3 6
 

 N
2
 is the limiting reagent
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   3 2

20
n NH 2 n N 2 1.42

28
     

3. 100 mL of 5% (w/v) solution of NaCl in water was prepared in 250 mL beaker. Albumin from the egg was

poured into NaCl solution and stirred well. This resulted in a/an :

(1) Lyophilic sol (2) Lyophobic sol (3) Emulsion (4) Precipitate

,d 250 mL ds chdj esa NaCl dk 5% (w/v) 100 mL foy;u rS;kj fd;k x;kA vaMs dh ,sYcwfeu dks bl foy;u esa

Mkydj feJ.k dks vPNh rjg ls foyksfMr fd;k] rS;kj foy;u gS %

(1) nzojkxh lky (2) nzofojkxh lky (3) beY”ku (4) vo{ksi

Question ID:100263

Ans. Official Answer NTA (1)

Sol. Standard method for the preparation of lyophilic sol. (Discussed in lab Manual)

4. The first ionization enthalpy of Na, Mg and Si, respectively are : 496, 737 and 786 kJ mol–1. The first ionizatin

enthalpy (kJ mol–1) of Al is :

Na, Mg rFkk Si dh izFke vk;uu ,UFkSYih gS Øe”k % 496, 737 rFkk 786 kJ mol–1A Al dh izFke vk;uu ,UFkSYih( k J

mol–1) gS %

(1) 487 (2) 768 (3) 577 (4) 856

Question ID:100264

Ans. Official Answer NTA (3)

Sol. I. E : Na < Al < Mg < Si

 496 < IE (Al) < 737

Option (C), matches the condition.

i.e. IE(Al) = 577 kJ mol–1

5. In metallurgy the term “gangue” is used for :

(1) Contamination of undesired earthy materials.

(2) Contamination of metals, other than desired metal.

(3) Minerals which are naturally occuring in pure form.

(4) Magnetic impurities in an ore.

/kkrqdeZ esa “xSax” dk iz;ksx ftlds fy, fd;k tkrk gS] og gS :

(1) e`nk ;k nwljs vuko”;d inkFkksZa ds iznw’kdA

(2) bfPNr /kkrq ds vykok nwljs /kkrqvksa ds iznw’kdA

(3) og [kfut tks iz—fr esa “kq) :i esa feyrs gSaA

(4) pqEcdh; v”kqf);k¡ tks v;Ld esa gksrh gSaA



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 29 July  Shift-1

Page No. 4

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Question ID:100265

Ans. Official Answer NTA (1)

Sol. Earthy and undesired materials present in the ore, other then the desired metal, is known as gangue.

6. The reaction of zinc with excess of aqueous alkali, evolves hydrogen gas and gives :

tyh; {kkj ds vkf/kD; dh ftUd ls vfHkfØ;k gkbMªkstu xSl fuxZeu ds lkFk nsrh gS %

(1) Zn(OH)
2

(2) ZnO (3) [Zn(OH)
4
]2– (4) [ZnO

2
]2–

Question ID:100266

Ans. Official Answer NTA (4)

Answer by Matrix (3 or 4)

Sol. Zinc dissolves in excess of aqueous alkali

 

2-
2 4 2

Tetrahydroxozincate II ion

Zn + 2OH +2H O [Zn(OH) ] H   

However, this reaction in NCERT is given as

Zn + 2NaOH  Na
2
ZnO

2
 + H

2
 

ZnO
2
2– is anhydrous form of [Zn(OH)

4
]2–

So in aqueous medium best answer of this question is [Zn(OH)
4
]2–

7. Lithium nitrate and sodium nitrate, when heated separately, respectively, give :

(1) LiNO
2
 and NaNO

2
(2) Li

2
O and Na

2
O

(3) Li
2
O and NaNO

2
(4) LiNO

2
 and Na

2
O

yhfFk;e ukbVªsV rFkk lksfM;e ukbVªsV dks vyx & vyx xeZ djus ij tks izkIr gksrs gSa] og gSa %

(1) LiNO
2
 rFkk NaNO

2
(2) Li

2
O rFkk Na

2
O

(3) Li
2
O rFkk NaNO

2
(4) LiNO

2
 rFkk Na

2
O

Question ID:100267

Ans. Official Answer NTA (3)

Sol. Li
2
O, NaNO

2

As per NCERT lithium nitrate when heated gives lithium oxide, Li
2
O. Whereas other alkali metal nitrates

decompose to give the corresponding nitrite.

4LiNO
3
  2Li

2
O + 4 NO

2
 + O

2

2NaNO
3
  2NaNO

2
 + O

2

However, the decomposition product of NaNO
3
 are temperature dependent  process as shown in the below

reaction.

NaNO
3
 

500 C




  NaNO

2
(s) + 

1

2
O

2
(g)

, 800°C
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Na
2
O(s) + N

2
(g) + O

2
(g)

As temperature is not mentioned, we can go by answer. (C)

8. Number of lone pairs of electrons in the central atom of SCl
2
, O

3
, CIF

3
 and SF

6
, respectively are :

(1) 0, 1, 2 and 2 (2) 2, 1, 2 and 0 (3) 1, 2, 2 and 0 (4) 2, 1, 0 and 2

SCl
2
, O

3
, CIF

3
 rFkk SF

6 
ds dsUnzh; ijek.kq ij ,dd bysDVªkWu ;qXeksa dh la[;k Øe”k% gSa :

(1) 0, 1, 2 rFkk 2 (2) 2, 1, 2 rFkk 0 (3) 1, 2, 2 rFkk 0 (4) 2, 1, 0 rFkk 2

Question ID:100268

Ans. Official Answer NTA (2)

Sol.

9. In following pairs, the one in which both transition metal ions are colourless is :

fuEufyf[kr laØe.k /kkrq vk;uksa ds dkSu ls ,d ;qXe ds /kkrq vk;u jaxghu gSa ?

(1) Sc3+, Zn2+ (2) Ti4+, Cu2+ (3) V2+, Ti3+ (4) Zn2+, Mn2+

Question ID:100269

Ans. Official Answer NTA (1)

Sol. (1) Sc3+ 3d0, Zn2+  3d10 (2) Ti4+ 3d0, Cu2+  3d9

(3) V2+ 3d3, Ti3+  3d1 (4) Zn2+  3d10, Mn2+  3d5

No d – d transitions in ions with d0 & d10 configuration. Therefore they are colourless.

10. In neutral or faintly alkaline medium, KMnO
4
 being a powerful oxidant can oxidize, thiosulphate almost

quantitatively, to sulphate. In this reaction overall change in oxidation state of manganese will be :

,d mnklhu ;k gYds {kkjh; ek/;e esa] KMnO
4
 izcy vkWDlhdkjd gksus ds dkj.k Fkk;kslYQsV dks yxHkx ek=kRed :i

ls lYQsV esa vkWDlhd`r dj nsrk gSA bl vfHkfØ;k esa eSXuht+ dh vkWDlhdj.k voLFkk esaa lexz ifjorZu gksxk %

(1) 5 (2) 1 (3) 0 (4) 3

Question ID:100270

Ans. Official Answer NTA (4)



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 29 July  Shift-1

Page No. 6

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Sol.
7 4

2 2
4 2 3 2 2 48Mn O 3S O H O 8Mn O 6SO 2OH

 
       

Change in oxidation state of Mn is from +7 to +4 which is 3.

11. Which among the following pairs has only herbicides ?

(1) Aldrin and Dieldrin (2) Sodium chlorate and Aldrin

(3) Sodium arsinate and Dieldrin (4) Sodium chlorate and sodium arsinite

fuEufyf[kr ;qXeksa esa ls fdlesa dsoy “kkduk”kh gS ?

(1) ,sYMªhu rFkk Mkb,sYMªhu (2) lksfM;e DyksjssV rFkk ,sYMªhu

(3) lksfM;e vkflZusV (4) lksfM;e DyksjsV rFkk lksfM;e vkflZusV

Question ID:100271

Ans. Official Answer NTA (4)

Sol. Both sodium chlorate and sodium arsenite behave as herbicide.

12. Which among the following is the strongest Bronsted base ?

fuEufyf[kr esa ls dkSu lk izcyre czkUlVsM {kkj gS ?

(1) 

H C3

 CH2

 CH3
N:

 CH2

 CH3

 H C2

(2) 

H C3

 CH2

H

N:

 CH2

 CH3

(3) 

CH
3|

N
 (4) 

N

Question ID:100272

Ans. Official Answer NTA (4)

Sol. N

It is most basic because there is no amine inversion.
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13. Which among the following pairs of the structures will give different products on ozonolysis ?

(Consider the double bonds in the structures are rigid and not delocalized.)

fuEufyf[kr ;kSfxdksa ds ;qXeksa esa ls fdlesa ;kSfxd vkst+ksuh vi?kVu ij fHkUu mRikn nsaxs ?

(1) 

 CH3

 CH3

 CH3

 CH3

(2) 

 CH3  CH3

 CH3  CH3

(3) 

 CH3

 CH3

 CH3

 CH3

(4) 

 CH3  CH3

Question ID:100273

Ans. Official Answer NTA (3)

Sol.
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14.
   

AgCN NaCN
'A ' Cl 'B '

C H OH H O C H OH H OMajor Pr oduct Major Pr oduct2 5 2 2 5 2

 
 

Considering the above reactions, the compound ‘A’ and compound ‘B’ respectively are :

   

AgCN NaCN
'A ' Cl 'B '

C H OH H O C H OH H O
2 5 2 2 5 2eq[; mRikn eq[; mRikn

 
 

mijksDr vfHkfØ;k ij fopkj dhft,A ;kSfxd ‘A’ rFkk ‘B’ Øe”k% gSa %

(1) N C,
 
 N C

 
 (2) C NC N,

(3) N C,
 
 C N (4) C N N C

 


Question ID:100274

Ans. Official Answer NTA (3)

Sol. Cl + AgCN  N C
+ –

Major

 + AgCl

Cl + NaCN  
C N

Major
 + NaCl

15.
P OBr NH OH
2 52 2A B C  


OH

CHO
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Consider the above reaction sequence, the Product ‘C’ is :

mijksDr vfHkfØ;k Øe ij fopkj dhft,A mRIkkn ‘C’ gS :

(1) 

BrBr

CN

(2) 

BrBr

OH

CHO

(3) 

BrBr

CHO

(4) 

OH

BrBr

CN

Question ID:100275

Ans. Official Answer NTA (4)
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Sol.

16.

 CH3

Cl

H N2

 
NH Br

3 2'A ' C H Cl O C H ClNO
8 6 2 8 8 NaOH

 

Consider the above reaction, the compound ‘A’ is :

mijksDr vfHkfØ;k ij fopkj dhft,A ;kSfxd ‘A’ gS :

(1) 

O

Cl

Cl  CH3

(2) 

O

Cl

H C3

Cl
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(3) 

O

Cl

 CH3

Cl

(4) 

O

H

 CH Cl2

Cl

Question ID:100276

Ans. Official Answer NTA (3)

Sol. O

Cl

Cl

  CH3

3NH

HCl


C – NH2

Cl
  CH3

O

2Br

NaOH


 NH2

Cl
  CH3

17.
N NCl




 

NaOH
'A ' Product

Orange red dye
 



Which among the following represent reagent ‘A’ ?

N NCl




 

NaOH
'A ' 

ukjaxh & yky jta d
mRikn

fuEufyf[kr esa ls dkSu lk vfHkdeZd ‘A’ dk izfrfuf/kRo djrk gS \ ukjaxh&yky jatd

(1) 

OH

(2) 

OH

(3) 

 NH2

(4) 

 NH2

Question ID:100277
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Ans. Official Answer NTA (1)

Sol.
OH OH

+

N N Cl
–+

Basic

medium


N N – Ph

18. Consider the following reaction sequence :

 NH2

 CN

   
   

CH CHOi AlH i Bu 32 'A ' B
ii H O dil NaOH, Major Pr oduct2


 



The product ‘B’ is :

fuEufyf[kr vfHkfØ;k Øe ij fopkj dhft,A

 NH2

 CN

   
   

CH CHOi AlH i Bu 32 'A ' B
ii H O dil NaOH,

2


 

 eq[; mRikn

mRIkkn ‘B’ gS :

(1) OHC N = CH – CH3

(2) H N2 CH = CH – CHO

(3) H N2  CH  – N = CH – CH2 3

(4) H N2 C – N = CH  CHO
||
O
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Question ID:100278

Ans. Official Answer NTA (2)

Sol.  NH2

 CN

   
 

2

2

i AlH i Bu

ii H O




 NH2

 CHO

3CH CHO

dil NaOH,


 NH2

CH = CH – CHO

Cross aldol condensation

19. Which of the following compounds is an example of hypnotic drug ?

fuEufyf[kr ;kSfxdksa esa ls dkSu lk ,d laeksgd vkS’k/k dk mnkgj.k gS \

(1) Seldane (2) Amytal (3) Aspartame (4) Prontosil

(1) lsyMsu (2) ,feVkWy (3) ,sLikVsZe (4) izkUVksfly

Question ID:100279

Ans. Official Answer NTA (2)

Sol. Amytal is hypnotic drug used to treat sleeping disorder.

20. A compound ‘X’ is acidic and it is soluble in NaOH solution, but insoluble in NaHCO
3
 solution. Compound

‘X’ also gives violet colour with neutral FeCl
3
 solution. The compound ‘X’ is :

;kSfxd ‘X’ vEyh; gS vkSj NaOH ds foy;u esa foy;”khy gS ijUrq NaHCO
3
 ds foy;u esa vfoys; gS mnklhu FeCl

3

ds foy;u ls ;kSfxd ‘X’ cSaxuh jax nsrk gS ‘X’ gS %
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(1) 

OH

(2) 

OH

(3) 

CH OH2

(4) 

CH OH2

Question ID:100280

Ans. Official Answer NTA (2)

Sol. 6

OH

 + FeCl
3
  [(Ph-O)

6
Fe]–3 (Violet colour)

21. Resistance of a conductivity cell (cell constant 129 m–1) filled with 74.5 ppm solution of KCl is 100  (labelled

as solution 1). When the same cell is filled with KCl solution of 149 ppm, the resistance is 50  (labelled as

solution 2). The ratio of molar conductivity of solution 1 and solution 2 is i.e. 
1

2



 = x × 10–3. The value of x is

__________. (Nearest integer)

Given, molar mass of KCl is 74.5 g mol–1.

,d pkydrk lsy (lsy fu;rkad 129 m–1) ftldks 74.5 ppm ds KCl foy;u ls Hkjk gS] dk vojks/k 100  gS (bl foy;u

dks 1 yscy fd;k gS) blh lsy dks KCl ds 149 ppm ds foy;u ls Hkjrs gS rks mldk vojks/k 50  gksrk gS (bl foy;u

dks yscy 2 fd;k gS)A foy;u 1 rFkk foy;u 2 dh eksyj pkydrkvksa dk vuqikr 
1

2



 = x × 10–3 gSA x dk eku gS

__________A (fudVre iw.kkZad esa)

fn;k gS KCl dh eksyj nzO;eku 74.5 g mol–1 gSA

Question ID:100281

Ans. Official Answer NTA (1000)

Sol.
1129m

l

A

KCl solution 1  74.5 ppm, R
1
 = 100 

KCl solution 2  149 ppm, R
2
 = 50 
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Here, 
1 01 1

2 2 2 0

w / Mppm M V

ppm M V w / M

 
   

 

1

1 1

2
2

2

1000
k

M

1000
k

M





 

1 1

2 2

k M

k M
 

50
2

100
 

31

2

1000 100
  


= 1000 Ans.

22. Ionic radii of cation A+ and anion B– are 102 and 181 pm respectively. These ions are allowed to crystallize into

an ionic solid. This crystal has cubic close packing for B–. A+ is present in all octahedral voids. The edge length

of the unit cell of the crystal AB is __________ pm. (Nearest Integer)

/kuk;u A+ rFkk _.kk;u B– dh vk;fud f=T;k Øe”k% 102 rFkk 181 pm gSa] ;s vk;u ,d vk;fud Bksl esa fØLVfyu gksrs

gSaA fØLVy esa B– ?kuh; fufoM ladqyu djrs gSa vkSj A+ lHkh v’VQydh; fjfDrvksa dks v/;kflr djrs gSaA fØLVy AB dh

,dd lsy dh dksj yEckbZ gS __________ pmA (fudVre iw.kkZad esa)

Question ID:100282

Ans. Official Answer NTA (512)

Answer by Matrix is (566)

Sol. a = 2(r
+
 + r

–
)

a = 2 (102 + 181)

a = 2(283)

a = 566 pm

23. The minimum uncertainty in the speed of an electron in an one dimensional region of length 2a
o
 (Where a

o
 =

Bohr radius 52.9 pm) is __________ km s–1.

(Given : Mass of electron = 9.1 × 10–31 kg, Planck’s constant h = 6.63 × 10–34 Js)

2a
o
 (a

o
 = cksj f=T;k] 52.9 pm) yEckbZ ds ,d foeh; {ks= esa ,d bysDVªkWu dh LihM esa U;wure vfuf”prrk gS

__________ km s–1A

(fn;k gS : bysDVªkWu dk nzO;eku = 9.1 × 10–31 kg, IykUd fu;rkad h = 6.63 × 10–34 Js)
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Question ID:100283

Ans. Official Answer NTA (548)

Sol. Heisenberg’s uncertainty principle

x

h
x p

4
  



0 x

h
2a m v

4
   


(minimum)

x

0

h 1 1
v

4 2a m
   



34

12 31

6.63 10

4 3.14 2 52.9 10 9.1 10



 




     

= 548273 ms–1

= 548.273 km s–1

= 548 km s–1

24. When 600 mL of 0.2 M HNO
3
 is mixed with 400 mL of 0.1 M NaOH solution in a flask, the rise in temperature

of the flask is __________ × 10–2 °C.

(Enthalpy of neutralisation = 57 kJ mol–1 and Specific heat of water = 4.2 JK–1 g–1)

(Neglect heat capacity of flask)

tc 0.2 M HNO
3
 ds 600 mL dks 0.1 M NaOH foy;u ds 400 mL ls ,d ¶ykLd esa fefJr djrs gSa] rks ¶ykLd ds

rki dk mUu;u gksrk gS __________ × 10–2 °CA

(mnklhuhdj.k dh ,sUFkSYih = 57 kJ mol–1, ty dh fof”k’V Å’ek = 4.2 JK–1 g–1)

(¶ykLd dh Å’ek /kkfjrk dks ux.; eku yhft,)

Question ID:100284

Ans. Official Answer NTA (54)

Sol. HNO
3

NaOH

600 mL × 0.2 M 400 mL × 0.1 M

= 120 m mol = 40 m mol

HNO
3
 + NaOH  NaNO

3
 + H

2
O

Bef. 120  40

Aft.  80    0 40 m mol


f
H = 40 m mol × (57 × 103) 

J

mol

= 40 × 10–3 mol × 57 × 103 
J

mol



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 29 July  Shift-1

Page No. 17

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

= 2280 J
m ST = 2280

 1000 mL
1gm

4,2 T 2280
mL

   

32280
T 10

4.2
  

322800
10

42
 

= 542.86 × 10–3

T = 54.286 × 10–2 K
T = 54.286 × 10–20C
Ans. 54.286
Answer mentioned as 54 (Closet integer)

25. If O
2
 gas is bubbled through water at 303 K, the number of millimoles of O

2
 gas that dissolve in 1 litre of water

is __________. (Nearest Integer)

(Given : Henry’s Law constant for O
2
 at 303 K is 46.82 k bar and partial pressure of O

2
 = 0.920 bar)

(Assume solubility of O
2
 in water is too small, nearly negligile)

303 K ij O
2 
xSl dks ty esa cqncqnk;k gSA O

2
 xSl ds feyh eksyksa dh la[;k tks 1 yhVj ty esa ?kqy tk,xh] og gS

__________A (fudVre iw.kkZad esa)

(303 K ij O
2
 ds fy, gsujh fu;e fLFkjkad dk eku 46.82 k bar gS vkSj O

2 
dk vkaf”kd nkc = 0.920 bar gS)

(O
2
 dh ty esa foys;rk yxHkx ux.; eku yhft,)

Question ID:100285

Ans. Official Answer NTA (1)

Sol. p = K
H
 × x

3 2

bar
2

mol of O
0.920 46.82 10 bar

mol of H O
  

50.920 46.82 10  2mol of O

1000


18

0.920 = 46.82 × 
2on

20

0.920
p n

46.82 18
 



2

3
01.09 10 n  

 m mol of O
2
 = 1
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26. If the solubility product of PbS is 8 × 10–28, then the solubility of PbS in pure water at 298 K is x × 10–16 mol

L–1. The value of x is __________. (Nearest Integer)

[Given : 2  = 1.41]

PbS dk foys;rk xq.kuQy 8 × 10–28 gS rks PbS dh “kq++) ty esa 298 K ij foys;rk gS x × 10–16 mol L–1, x dk eku gS

__________A (fudVre iw.kkZad esa)

[fn;k gS : 2  = 1.41]

Question ID:100286

Ans. Official Answer NTA (282)

Sol. K
sp

 = S2

S = 28 14
spK 8 10 2 2 10    

= 2.82 × 10–14

= 282 × 10–16

27. The reaction between X and Y is first order with respect to X and zero order with respect to Y.

Experiment

I

II

III

IV

0.1

0.2

0.4

0.2

2 × 10
–3

0.1

L

0.4

0.1

4 × 10
–3

M × 10–3

2 × 10
–3

1

X

mol L 1

Y

molL 1 1

Initial rate

molL min 

Examine the data of table and calculate ratio of numerical values of M and L. (Nearest Integer)

X rFkk Y ds e/; ,d vfHkfØ;k X ds lkis{k izFke dksfV dh gS vkSj Y ds izfr “kwU; dksfV dh gS %
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iz;ksx

I

II

III

IV

0.1

0.2

0.4

0.2

2 × 10
–3

0.1

L

0.4

0.1

4 × 10
–3

M × 10–3

2 × 10
–3

1

X

mol L 1

Y

molL 1 1molL min 

ikz jafHkd osx

mijksDr vk¡dM+ksa ds fo”ys’k.k ds vk/kkj ij M rFkk L ds la[;kRed ekuksa dk vuqikr gS _______A (fudVre iw.kkZad esa)

Question ID:100287

Ans. Official Answer NTA (40)

Sol. r = k[X] [Y]0 = k[X]

Using I & II

3

3

10 L
L 0.2

2 10 0.1





  
   

  

Using I & III

3

3

M 10 .4
M 8

2 10 0.1





 
  



M 8
40

L 0.2
 

28. In a linear tetrapeptide (Constituted with different amino acids), (number of amino acids) – (number of peptide

bonds) is __________.

,d jSf[kd VsVªkisIVkbM (fHkUu ?kVd ,sehuksa vEyksa ls fufeZr) esa (,sehuksa vEyksa dh la[;k) – (isIVkbM vkcU/kksa dh la[;k) gS@gSa

__________A

Question ID:100288

Ans. Official Answer NTA (1)

Sol. In tetrapeptide

No. of amino acids = 4

No. of peptide bonds = 3

Hence, (1)
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29. In bromination of Propyne, with Bromine 1, 1, 2, 2–tetrabromopropane is obtained in 27% yield. The amount

of 1, 1, 2, 2–tetrabromopropane obtained from 1 g of Bromine in this reaction is __________ × 10–1 g.

(Nearest Integer)

(Molar Mass : Bromine = 80 g/mol)

izksikbu dks czksehu ls ladfyr djus ij] 1, 1, 2, 2–VsªVkczkseksizksisu 27% yfC/k esa izkIr gksrh gSA 1 g czksehu ls ladfyr djus

ds fy, bl vfHkfØ;k esa 1, 1, 2, 2–VsªVkczkseksizksisu dh izkIr ek=k gS __________ × 10–1 gA (fudVre iw.kkZad esa)

(czksehu dh eksyj lagfr = 80 g/mol)

Question ID:100289

Ans. Official Answer NTA (3)

Sol. 3 2 3

Br Br
| |

CH C CH 2Br CH C CH
| |
Br Br

     

1 1
360 0.27

160 2
   

= 0.30375

= 3.0375 × 10–1

30. [Fe(CN)
6
]3– should be an inner orbital complex. Ignoring the pairing energy, the value of crystal field stabilization

energy for this complex is (–) __________ 
o
. (Nearest integer)

[Fe(CN)
6
]3– ,d vkarfjd d{kd ladqy gksuk pkfg,A ;qxyu ÅtkZ dh mis{kk dj] fØLVy {ks= LFkk;hdj.k ÅtkZ dk eku

bl ladqy ds fy, gS] ekbul __________ 
o
A (fudVre iw.kkZad esa)

Question ID:100290

Ans. Official Answer NTA (2)

Sol. [Fe(CN)
6
]3–

CN– is strong field ligand

 3 5 5 0
2g gFe 3d t e

g5

2g

e
3d

t

CFSE = 5 (–0.4 
0
) = –2.0 

0


